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91 x20% = 56 x 70% =
54 x 50% = 44 x 20% =
48 x 40% = 20 x 70% =
87 x 90% = 4 x 80% =
92 x20% = 10 x 50% =
76 < 20% = 13 x 90% =
10 x 30% = 18 x 20% =
89 x 20% = 99 x 20% =
68 x 10% = 37 x 30% =
63 x 50% = 58 x 20% =
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91 x20% = 18.2

54 x 50% = 27

48 x 40% = 19.2

87 x90% = 78.3

92 x20% = 18.4

76 < 20% = 15.2

10 x 30% = 3

89 x20% = 17.8

68 x 10% = 6.8

63 x 50% = 31.5

56 x70% = 39.2

44 < 20% = 8.8

29 x70% = 20.3

4 x80% = 3.2

10 x 50% =5

13 x90% = 11.7

18 x20% = 3.6

99 x20% = 19.8

37 x30% = 11.1

58 x20% = 11.6
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